7 7 16
()-1 -1
()-1
4, 840, 000 19,600 /
1
B 7 1 (4 77 2 (el 7t /
(2) 7 7 (9
(3)
2
= 247
()] (
()
( 60, 200 )
151 5.2m (
2 250m
(2) 70 30 0 20
20 14 280
()
250m (0. 200)
(3 (4) +3.0
- 19, 600 /
7,050 /
/
/
(6)
(7
T - = 0.0 +2.0
0.0 -2.0
1 (1) 0.0 +30.0
+4.0 0.0
[ 99.6 ] 100 100 [ 103.0]
25, 500 100 [ 104.0]|[ 129.9] 100 19, 400 88 00
(9
Cr)
[ ] 100 100 [ ]
100 [ I 1| 100
(10) -1
- |
19,900 /
-2
O |
/
-1.5




7 7 14
( )-2 -1
()-2
5, 120, 000 25,200 |/
1
(1) 707 1 (4 7 7 10 (61 7 ] !
(2 7 7 2 (5)
(3)
2
(1 203
()] (
()
( 60, 200)
1:2 3.8m (
2 400m ( 70, 160 )
(2 50 20 50 30
10 20 200
)
400m ( 70, 160 )
(3 (4) +2.0
(5) 25,200 /
15,200 /
/
/
(6)
(7
(8) [ 1
1)
[ 1/ 100 100 |[ ]
/ 100 [ 110 1| 100
(9) 0.0 +3.0
0.0 +1.0
( )-1 (1) 0.0 -25.0
[ 98.5]| 100 100 |[ 102.0] 24 900 +g'8 8‘8
19,900 / 100 |[ 103.0]|[ 78.0 ]| 100 ' 0.0 :
(10) -1
- (|
25,300 /
-2
1 1
/
-0.4_|




)-3

7 18

(

)-3

2,020, 000

4, 800

/

(1)

1 14

10

(6)

(2)

15 [(5)

11

(3

(1)

421

1:2

am

4. 4km

(2

300

500

100

400

20

25

500

4. 4km

(3

(5

4,800 [/

(4

(6)

@)

(8)

100

100 | ]

100

1| 100

(9

100

100 | ]

100

1l 100

(10)

4,900 /

-2.0




)-4

(

)-4

4, 060, 000

8,120 /

(1)

1 14

10

(6) |1

(2)

2 |(5

(3

(1)

11

4.3m

2. 1km

()
( 60, 200 )

(2

120

100

250

10

22

23

500

2. 1km

33—
N
8

(3

(5

8,120 /

(4

(6)

@)

(8)

[ 1l 100

100 |

100 [ 1

1| 100

(9

[ 1| 100

100 |

100 [ 1

1l 100

(10)

8,180 /

-0.7




7 7 16
( )51 -1
()51
4, 660, 000 23,800 |/
1
(1) 707 1 (4 7007 12 (6) 71 !
(2) 77 7 (5
(3)
2
(1) 196
()
()
( 80, 300)
1:2.5 15m ( )
2 50 70 30 50
9 2 200
()
610m (%, 30)
(3 (4) +2.0
23,800 |/
(5)
9,980 /
/
/
(6)
(7
T) O 0.0 0.0
0.0 0.0
51 (1) 0.0 +5.0
[ 99.0] 100 100 |[ 102.0] 23 300 8'8 ‘%8
25,000 |/ 100 |[ 100.0]|[ 108.2]| 100 ' 0.0 '
(9
Cr)
[ 1| 100 100 |
/ 100 | i 1 100
(10
- ]
24,300 |/
] (|
/
2.1 |




